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Q:P. Code: 20EE0201 E Q.P. Code: 20EE0201 R20
UNIT-I UNIT-V]

5 a Explain about Series resonance with phasor diagrams? L2 oM 9 a Find the cut-set matrix for the followings? L3 6M
b Determine the quality factor of coil for the series circuit consisting of R=10Q, L4 6M a) b)
L=0.1H and C=10pF
OR Cr ab i e
6 a Derive the expression of resonant Frequency of the following circuit. L4 oM
5o () Bl 2n.
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i b 1) Define graph. L1 6M
(> ii) Define planar and non-planar graph.
v V,, sin ot
. . L iii) Define duality.
b Find the value of C in the circuit shown to get resonance. L4 6M oF
20 J37.7 12 10 a Explain the relationship between branch current matrix and loop current matrix L4 6M
& b Write the procedure to draw the dual network and find dual network for the following L4 oM
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UNIT-1V i
7 a What is the maximum possible mutual inductance of two inductively coupled coils L2 6M ﬂm
with self-inductance of 50mH and 200mH?
. . . *kk mZU skokk
b Two coupled coils have a self-inductances 37.5 mH and 193 mH, with the mutual L3 6M

inductance of 63.75mH. Find the co efficient of coupling.
OR
8 a A 15mH coil is connected in series with another coil. The total inductance is 70mH. L4 6M
When one of the coils is reversed, the total inductance is 30mH. Find the self-
inductance of second coil, mutual inductance and coefficient of coupling.

b What is ideal transformer and draw its phasor diagram L4 6M
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